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Errata

The following editorial correction has been found in Vol.E104-A, No.9, and should be corrected as follows.

Wrong terms to be corrected as

p. 1225, Fig. 6, line 18: p. 1225, Fig. 6, line 18:
ν := dξ1 − ξ2c ν := dξ2 − ξ1c

p. 1225, Fig. 6, line 23: p. 1225, Fig. 6, line 23:
h := MakeHintp(−ct0,w − dcs2c − ν + ct0,2γ2) h := MakeHintp(−ct0,w − dcs2c + ν + ct0,2γ2)

p. 1225, equation (3): p. 1225, equation (3):⌈
p
q Az

⌋
− ct = w − dcs2c − ν

⌈
p
q Az

⌋
− ct = w − dcs2c + ν

p. 1225: p. 1225:
ν := dξ1 − ξ2c ν := dξ2 − ξ1c

p. 1225: p. 1225:
d
p
q Azc − ct1 · 2d = w − dcs2c − ν + ct0 d

p
q Azc − ct1 · 2d = w − dcs2c + ν + ct0

p. 1225: p. 1225:
w′1 = UseHintp(h,w−dcs2c−ν+ct0,2γ2) = HighBitsp(w−dcs2c−
ν,2γ2)

w′1 = UseHintp(h,w−dcs2c+ν+ct0,2γ2) = HighBitsp(w−dcs2c+
ν,2γ2)

p. 1225: p. 1225:
HighBitsp(w − dcs2c − ν,2γ2) := r1 = w1 HighBitsp(w − dcs2c + ν,2γ2) := r1 = w1

p. 1226, Fig. 8, line 17: p. 1225, Fig. 6, line 17:
ν := dξ1 − ξ2c ν := dξ2 − ξ1c

p. 1226, Fig. 8, line 18: p. 1225, Fig. 6, line 18:
(r1,r0) := Decomposep(w − dcs2c − ν,2γ2) (r1,r0) := Decomposep(w − dcs2c + ν,2γ2)

p. 1226, Fig. 8, line 20: p. 1225, Fig. 6, line 20:
h := MakeHintp(−ct0,w − dcs2c − ν + ct0,2γ2) h := MakeHintp(−ct0,w − dcs2c + ν + ct0,2γ2)

p. 1226: p. 1226:
r1 := HighBitsp(w − dcs2c − ν,2γ2) = HighBitsp(w,2γ2) := w1 r1 := HighBitsp(w − dcs2c + ν,2γ2) = HighBitsp(w,2γ2) := w1

p. 1226: p. 1226:
‖dcs2c + ν‖∞ ‖dcs2c − ν‖∞

p. 1227: p. 1227:
h = JHighBitsp(w− dcs2c − ν + ct0,2γ2) , HighBitsp(w− dcs2c −
ν,2γ2)K

h = JHighBitsp(w− dcs2c + ν + ct0,2γ2) , HighBitsp(w− dcs2c +
ν,2γ2)K

p. 1229, Fig. 9, line 9: p. 1229, Fig. 9, line 9:
ν := dξ1 − ξ2c ν := dξ2 − ξ1c

p. 1229, Fig. 9, line 11: p. 1229, Fig. 9, line 11:
‖LowBitsp(w − dcs2c − ν,2γ2)‖∞ ≥ γ2 − β2 ‖LowBitsp(w − dcs2c + ν,2γ2)‖∞ ≥ γ2 − β2

p. 1229, Fig. 9, line 12: p. 1229, Fig. 9, line 12:
h := MakeHintp(−ct0,w − dcs2c − ν + ct0,2γ2) h := MakeHintp(−ct0,w − dcs2c + ν + ct0,2γ2)

p. 1229 p. 1229⌈
p
q Az

⌋
− ct = w − dcs2c − ν

⌈
p
q Az

⌋
− ct = w − dcs2c + ν

p. 1229 p. 1229
and ν := dξ1 − ξ2c . ξ3 := d pq A(z − z′)c − p

q A(z − z′), and ν := dξ1 − ξ2 − ξ3c .


